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Algebraic:

j=+-1

oo —1
J=—
J
sinc({x) = Sin(7zx)
Euler Identities :

e!? = cos(8) + jsin(8)

el® e
cos(@)=—
(&) 5

e _ —jé
'sin(6’):e ?
2j

Exponential Fourier Series :

11+T W,
C, =7 | xe ™" dr

i n=031+112,...
tl
x(t)= 3C,e™™"
Hn=—ua

where w, =24T

Trigonometric Fourier Series :

tl+T
An= P [ x() cos(nwyt)dt

t1

n=0,1,2,..

4T

Bn = - [x(t)sin(rw,t )dt n=0,1.2,...
tl

x(r) = %ﬂ + T An cos(nw,t) + Bnsin(nw,t)

n=i

Fourier Transform and Inverse

S{x(0)} = X(w) = [x(t)e ™dt

SHX(w)}=x() = 1 TX(w)e™dw
2




